Volumenberechnungen Aufgabe 256

Wie groB ist h, wenn das Volumen des Pyramidenstumpfes halbiert

werden soll?
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2,5
V= - * (52 + y52* 324 32) cm3
3
2,5
V= *(25+5*3 +9)cms
3
V = 40,8 cm3
\ 40,8 cm3
Vhalb = mmmm = mmmmmmmeee- = 20,4 cm3
2 2
Strahlensatz:
AB MS
CD MS - MN

Uber Kreuz multipliziert:




AB * (MS - MN) = CD * MS cm
5*(MS-2,5)=3*MScm
5*MS-12,5=3*MScm | -3 *MS
2*MS=125cm | :2

MS = 6,25 cm

Strahlensatz:

Uber Kreuz multipliziert:

AB * (MS - MO) = EF * MS cm

5 * (6,25 - MO) = EF * 6,25 cm
31,25-5* MO = EF * 6,25cm | + 5 * MO
31,25 = EF * 6,25 cm = 5 * MO cm| - EF * 6,25
31,25-EF *6,25cm=5*MOcm | : 5

MO = 6,25 - 1,25 * EF cm

MO
Vhalp = ===-- *(G1 + |G, *G, + G)
3
6,25 - 1,25 * EF
Vhalp = -============-=----- * (52 + 52 *EF2 + EF2) cm3
3
6,25 -1,25 * EF
20,4 = ----mmmmmmmmmmmm oo * (25 4+ 5 * EF + EF2) cm3 | * 3
3

61,2 = (6,25 - 1,25 * EF) * (25 + 5 * EF + EF2) cm3
61,2 = 156,25 + 31,25 EF + 6,25 EF2 - 31,25 EF - 6,25 EF2 - 1,25 EF3 cm3

61,2 = 156,25 - 1,25 EF3 c¢m3 | + 1,25 * EF3



61,2 + 1,25 * EF3 = 156,25 cm3| - 61,2

1,25 * EF3 = 95,05 cm3| : 1,25

EF3 = 76,04 cm3 |3/

EF = 4,24 cm

MO = 6,25 - 1,25 * EF cm = 6,25 - 1,25 * 4,24 cm = 0,95 cm

h=MN-MO=25cm-0,95cm = 1,55cm



